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QUESTION 1

host port of storage controller with host port that need to connected try to divide in the same VLAN or zone, in order to
improve network utilization.

A. True
B. False

Correct Answer: B

QUESTION 2

Which SAS protocol mainstream version is currently used?
A. SAS1.1

B. SAS2.0

C.SAS 3.0

D. SAS3.1

Correct Answer: B

QUESTION 3

For storage arrays products, What may cause the failure of roll back the snapshot? (Select three Answers)
A. timing snapshot in stopped state

B. the same source LUN has multiple snapshots at the same time roll back

C. remote copy of main LUN can snapshot rollback

D. WORM state of source LUN in read-only state rollback

Correct Answer: BCD

QUESTION 4

ISM use JWS technology, JWS is mainly used to deploy the application through network, it is security, stability, easy
maintenance and easy to usk.

A. True
B. False

Correct Answer: A
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QUESTION 5

For solaris system, which of the following statement about STMS is true? (Select 3 Answers)
A. solaris 10 system can bring its own STMS package, do not need additional install.

B. use the command to enable port of STMS function will ask to restart the host

C. stmsboot is management programs of manage solaris multipath characteristiC.

D. install Ultrapath multipath software to support multipath function on the solaris

Correct Answer: ABC
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